
News on D* l ν

1) BAD 287 V16 + Conference Paper (BAD 959 V2) available 
1 Preliminary BLIND Results for Real Data;
1 Systematic uncertainties almost completed;                                                
                                                                                                                         
                                                                                                                        
2) Toy MC: Preliminary Results 

Martino 08/07/04
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BABAR

τ    = xxxx +−0.0084 +−0.0195 ps
∆m= yyyy +−0.0043 +−0.0063 ps−1

REAL DATA PRELIMINARY
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Not yet computed:
"Gexp resolution model for cascade leptons tag−side
"Different cut in the Selection Likelihood Variable χ(l, π∗, ΠV) 
"Alignment from Exclusive measurement                                                     
                                                                                                                        
            
"Analysis Bias:                                                                                               
  ½ the difference between the MC Global fit results and the MC thuth:       
  ∆τ    = +0.0273+−0.0136  ps                                                                         
  ∆δm = −0.0031+−0.0015  ps−1 3



Toy MC
"90 "experiments" generated starting from the fitted (∆t, σ∆t) PDFs of the 
various components in the Global MC fit:                                                                
τ     = 1.575+−0.006    ps                                                                                         
∆m = 0.469+−0.002    ps−1                                                                                         
   
"For each experiment, the following kind of fit were performed to check the 
analysis procedure:                                                                                                    
           1) B0 Prompt + Cascade tag−side leptons;                                                      
           2) B0 Prompt + Cascade tag+decay side leptons;                                           
           3) B0+B+ Resonant Sample;                                                                            
           4) Global Fit (Resonant + Combinatoric)                                                       
              
"The average τ and ∆m are compared with the generated ones;
"The resulting RMS is compared with the statistical error of the corresponding 
fit on MC
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1) B0 prompt+cascade (tag−side) leptons

2)B0 prompt+ cascade (tag+decay side) leptons
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3) B0+B+ Resonant Sample

4) Global MC Fit
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1)                                                                                                                                                                                                                       

          <τ>
toy

+−rms       δτ(stat) 
fit 

                   <∆m>
toy

+−rms          δ∆m(stat)
fit  

            

                                                                                                                                    
1)   1.562+−.0079      .0060                       0.4656+−.0027          .0027                   
2)   1.562+−.0083      .0062                       0.4651+−.0029          .0022

                                

3)   1.561+−.0080      .0051                       0.4638+−.0022          .0023     
                        

4)   1.562+−.0087      .0061                       0.4622+−.0033          .0019                      
                                                                                                                              
"Constant "fit bias" ∆τ=−0.013 ps : the +0.014ps difference between the 
corresponding fits 3) and 4) is due to the BKG PDF Parameterization;
" ∆δm=−0.0033/−0.0067 depending on the fit;
"δτ(stat) seems to be underestimated;
"δ∆m(stat) ~OK (except the Global fit one)

Toy for the Real Data Fit coming soon to check the statistical error and bias

 1)

   2)

   3)

   4)

Generated τ=1.5753 ps                           Generated ∆m=0.4689 ps−1
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